


98.  angleuen eumanflab Qawb QuTHLHE L6 sLbg Qeammrer aemuams GOHLINHLD Bred
A) Sausfbgroemfl
(B) mmsﬁmrrugf,]

M werfCuasana

(D) @@L Css

99. gafllien HawsCaussamns o wdli@E Aaualluu@sHueut wmi?
(A) @omoir
v@r Grmwoir
(©C) @ Cumgwiiev

D) Qrewsri GLev

100. epOsHs eameE@ Qe Cw Diemwps QB[ EHEFTEME, RIGDIOTET FTEM eTan SeP&EsLBEDSG?
(A)  @urGueveurb - gy
B) Hmes - vger

©C) HSam@sse - wg@y

;ﬁ( sanawungl - wger
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101.

102.

Who discovered X-rays?

(A) Bardeen

VB{ Roentgen

- (C) Weiss

(D) Mari Curie

X-sdliraemen serr@iig geui wmi?
(A) unfeer

(B) e _ggen

(©) &fe

(D) Cuofl-ayf

Name the raw material used in the production of glass

(A) mica
(B) quartz
(C) plastic

Mﬂr silica

samanmg Swrfinde vweaTuSsLUEL apelQuTmeT wrg?
(A) eowéasT

B) @euriliev

(C) Qerrevigs

(D) Adlanm

27
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103. Which of the following compounds of nitrogen is called ‘Laughing gas’?

(A) NO Nitric oxide
\)m/ N,O Nitrous Oxide
(©) NO, Nitrogen dioxide

(D)  N,O, Nitrogen pentoxide

Epéaa amplnea Carwmsaild g ‘AfssmadEb cury aeamn smwpssiu@dng?
(A)  NOapLMs ysmav[
(B)  N,OepLlyev ydamav()

" (O) NO, enpL_ysgen enL_ &6 (H

(D)  N,O,ep ymer Quer_rémevH

104. * Visible light of solar radiation supplies the main energy for photosynthesis Point out the

wavelength of visible spectrum
WA 300 nm to 720 nm

(B) 720 nm to 820 nm

(C) 280 nm to 300 nm

(D) 1100 nm to 1900 nm

Glws sfisafle stamsmuwu gafl paliCsismasanar ssfloow auprEGang. Seupdlar @meberd
N ICES

(A) 300 nm to 720 nm
(B) 720 nm to 820 nm
(C) 280 nm to 300 nm

(D) 1100 nm to 1900 nm

AJGST 28

il



105.  Trypanosomiasis is a disease transmitted by

(A) Sand fly

\,(B)’.Tse-tse fly
(C) Firefly

(D) May fly

g ALuCGammCGavmblwrallev eretrm Crrenws sL_ggib 2 ulf
(A) mm@géﬁ

(B) Tse-tse (Qsl &) &8

© Sys4

D) Gy

-106. The Drug most widely used against AIDS virus is

W!T’Zidorudine
(B) Miconozole
) (C) Nawoxylol

(D) Virazole

AIDS 2 97@smerel eneurevd@ erdlnrs LweTuRSSLGHW WwmbHer AuwiT
Q) @sCLmamg e

B)  awlsrGamGsma

(©) prGamensemed

(D) &NpCemed

29 AJGST
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107.  Which one of the following is known as the "land of Rice Revolution"?
(A) China
(B) India

(C)  SriLanka
\M Philippines

Qemeumeuaneunmar ‘oiflfl Yy & Hlewrs’ sivluliu@eug) erg?

(A) e
(B) @idwur
©) Bemasr

(D)  Wellenuenav

108. Which of the following is not a local wind?
(A) Sea breeze

(B) Land breeze

\K Trade winds

(D)  Loo

leTeu(mHeuaTeUD MIST FOESTHN 6TH HOSSTHH @Dema?
@) sLpsTHH

B®) PHessmpn

(©) ewrumyésrom)

D) o

AJGST 30

1



109.

110.

Tt

Khetri-Singhana area is famous for which mineral?
(A) Iron-ore
(B) Bauxite

(C) Coal

@r Copper

CalM-frsrami @S erhs sTgIdHEG QUWTEALHD LGS ?
&) @owussrs

(B) ursemsl

©) Hessh

D) smigb

Who was used the terminology ‘supernova’?

W™ F. Hoyle

(B) H.N. Russell
(C) Sir James Jeans

(D) Immanuel Kant

‘Supernova’ ereip smaé GaToremaTg WTITd LWETLHSSILLL & ?
(A) F.Gandl

(B) H.N. 7Geved

(C) &7 Gguev gere

D) @urayCeue smewr_

31
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111. Which division of the constitution of India explains the right against exploitation?

(A)  14-18
(B) 19-22
(C) 25-28

sreRTL_g)1&@ erdlyren 2_fMewenw samb @bHw SiFflweenoliL) L@F erg)?

(A)  14-18
(B) 19-22
(©) 25-28
(D) 23-24

112. Name the social movement started by E.V.R

(A) Thanithamil Ivakkam

\,(B( Self Respect movement

(C) Civil Disobedience movement

(D)  Anti untouchability movement

. Geu. preured Qem_misluLL sapsmu FTHhss QWESLD eree?
Q) sallgsBp Qussd

(B) swoflures @uésbd

(©) &l vy Quésd

(D) Sewmmenw erHiiy Qussd
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113,

114.

Tt

The period during which the governor of state acts as the real head of the executive is

(A) Budgetary sessions

(B) Convening of state legislature

\;ﬂ/ During emergencies

(D)  During Election

@I wmble E%@;sr'r 2_@meniowimer HiTeUTEsS SIS @@a’s@m &EreLd
A) il_u'_an'_ gL QsTLiT pL&GLCLING

(B) sl wveammigamer sal (Hib Curg

(©)  seusy flene sretisafle

D) Csige srewsda

The length of the history of the Tamil language is estimated as
(A) - 3500 years

\E)'"%OO years
(C) 1500 years

(D) 400 years

sl Qumfluder Qgmit eupeompiler AN LU L sren
(A) 3500 GJ@I_I'E.\J&‘GiT

(B) 2500 eumL_rusar

(C) 1500 augmLraser

(D) 400 euqmL_rser

33
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115, Periyar visited which country in 19317

China

(A)
‘ﬁ( Russia

(C) Singapore

(D)  Australia

1931-1b yeior(® Quilwnt erBs BTligH@ eSleguid Qe mi?

(A) §§u‘rrr
B)  pegwr
(C) Srsliyr

D) oedCredlumr

116. Who was the governor general of India during the time of Vira Pandya Kattabomman?

W& Lord Wellesley

(B) Sir John Shore
(C)  Sir George Barlow

(D) Lord Hastings

&y urairiqw s Qumbwefler sresder Curg @bHHwireler seuireart ngﬁmm B(mBSeuT wmT?
(A) | Qeuc@avened) -ﬁ}qq

®B) i gren Gagit

(©)  si gritgg uMiGeor

(D)  Capevigmev Gy
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117. Who was the minister of Kattabomman?
(A)  Umaitturai
\.(-B'f’_Siva Subramaniya pillai
(C) dJagavira Pandyan

(D) Bommuturai

s dumbwefler ien0&aTTs @)(HHSeuT wim?
(A)  caawsgieny

B) Aastipoefu e

(C) Qgseliy uﬂdﬁqm@ ’

(D) Qumbqp gy

118. The principles of Aligargh movement was opposed by whom?
(A) W.C. Banerjee
HBr' Muhammad Ali Jinnah
©) .LalaLajapati Roy |

(D)  Netaji

2l Quissgden Qamatensenws TS eu wim?
@A)  W.C. unenirgd

B) psws o6l geamm

-

©) ererogusl pmi

(D) Cpsred

= ~ 35 AJGST
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119. The Department of Border management is a department of which one of the following union
ministries? -

Ministry of External Affairs

.'ﬁm/ Ministry of Home Affairs

(C)  Ministry of Environment and Forests

(D)  Ministry of Defence

rame -Cuoarameamnsd gompurag @b LS SiwisTmeuTd ahs Siamodsssiar S

au(mh&ma?

@) Qaefypays gieop Smwsssid

B) o drgenm eminFssLd

C)  sDméGwe Lngbgl.-b URTHEIDN DENOEFFEID

(D)  ungisTiLS FiwD SMDESSHD

120. Find out the wrongly matched from the following :

(A)  Prohibition of Discrimination on grounds

of religion, race, caste, sex or place of birth — Article 15

(B)  Right to Association - Article 19
\ﬂ( Right to Protection of Life - Article 14

.(D) Right to Constitutional Remedies - Article 32 |

Spésam_aupnier saupns GACI Hererams sa@THiG

A) urgurieaL 5H&GD 2 Mo - &94l 15

(B) sl sl B o Mew = 94 19

(C) =i eurpid 2 feno | - cfldl 14

D)  sirflueewiiy apab uflsrybd CsHIWw 2 faw  — eflgl 32 |
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121. Match the institutions with the Articles of the Indian Constitution :

1

(a) Comptroller and Auditor General of India
(b) Finance Commission
(c) ‘Administrative Tribunals
(d) Union Public Service Commission
Codes :
(a) (b) () (d)
A 3 .4 2 1
B 1 2 4 3

wr 3 2 4 1

(D)

. (D)

1 4 2 3

(@) Qb sirs sans@s sanllbmas samaeui
R T—
() Aireurs &liumuib
(d s FEL uéuﬂmnmﬁ Caireumanemruid
GO Hser
@ ® © @
(A) 3 4 2 1
®) 1 2 4 3
© 3 2 4 1
1 4 2 3

87

1‘.

2,

1.

2.

Art. 315
Art. 280
Art. 148

Art. 323 (A)

- @B arduemnly glL_gglem eflflaenar ipa HlmcueThIEEHL_ 6 QUT(HESSIS :

Art. 315
Art. 280
Art. 148

Art. 323 (A)

AJGST
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122. The separate communal electorates was introduced in India for the first time under the

(B) Govt. of India Act, 1919
(C)  Govt. of India Act. 1935

(D) Indian Independence Act, 1947

@pHureie wsen @sdd Garaunfluns sefl 1ATHHHss0E®S i eSS sL_LLD
(A) @bHu yas s b, 1909
(B) @bAw irsé sCLib, 1919
(©) @ sir&ss s Lib, 1935

D) @Bdwu sspHré 1L 1b, 1947

123. In India, disguised unemployment is more prevalention the

Industrial sector

Vﬁ( Agricultural sector

(C)  Service sector

(D)  External sector

@bHunefley wenpaps Couamaufenanto Fawras sreariiu{Heg)
A) Qsrdogempuie

(B) Ceauarmamr grenpuied

(C) Gsewas gimpuled

D) <swos geopula
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124.

125.

1

Mudra Bank i_s related to

(A)  Housing finance

MMiero finance

()] Personal loan

- (D)  Vehicle loan

‘apEIT aumidLan AT e wig)
A) S Basar HS

B). e g

©) safipui sLen

D)  eunsens sLen

Golden quadrangle was a major initiative in

(A Air
(B) Water
(C) Rail

\,B}" Road

s BIHSISEL LD
@A) andnaid

B) e

©) gl

D) gmeove

39
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126. Which tax gave the highest revenue to the Tamil Nadu government, before GST?
(A) Entertainment tax
(B) Land cess

(C)  State excise duties

\;B( General sales tax

uesr_iusdr whmb Ceemeu auflaErsE et sLLBIH ATHESE AFlswra e mHeuml eflss el

oIl ?

- (A) Csellgens curfl
B) Hagsiama
(©)  wrle s surfl

(D)  Qumgy) eShuenar curl

127. " In frequency table length of the class interval =

Number of class interval

A
) Range

~(B) Range x Number of class interval

(C)  Number of class interval x 100
: \ﬁ( Range
Number of class interval

Hlap@eua Ll iqwied Sawss 9fla) G Geuafiuder Bemd =

(A) Wifley @en_Geuatlufen crarmentlEens
el & _
B)  elss x Gfley @en_Qeuaflufen crawrantldEans

(C)  AOfey Gav_Leueflulien ereirentiéena x 100
oiss
Gfley Qen_Cleuatlufer erammenflsens

(D)
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128. The following table shows the monthly budget of a family. Find the central angle for

education.

Particulars Food | House rent Cl;othing Education | Savings | Miscellaneous

Expenses (in Rs.) | 4800 | 2400 1600 800 1000 1400

Gemeumd <l Laumeanded @@ GRHLUsSHe wrg are). Qswa; eflaurhsear syiulHerarear o

sl QeaeysEsTer WSS TEI S ETEE. &6 5.

efleugruger cavey | SLPeaures | caL | soefl | Callly | @sr sawasar
CQFeweyser (¢m.) 4800 2400 1600 | 800 1000 1400
(A) 48°
B) -24°
() 30°
(D) 42
S | 41 AJGST
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129. In a right triangular ground, the sides adjacent to the right angle are 50 m and 80 m. Find
the cost of cementing the ground at ¥ 5 per sq.m.
(A) ¥ 13,500
(B) %650
v@( € 10,000
(D) T 20,000
om QeriCsran w&Carean cugeflarar Hlaogdear, QsnCaransdnG iméleo ;:_drsn ussmser 50 (5,
80 f wjereller 2 ereran. g sgiy BLL (&G T 5 aig, Hosdn@ HAveanh Gaiw en Cewey
GTGTEn ?
(A) ¥ 13,500
(B) ¥ 650
(C) % 10,000
(D) T 20,000
130. One side of a rectangular field is 15 m and one of its diagonals is 17 m. Then the area of the
field is
(A) 135 m?
B) 115 m?
\ﬂ( 120 m?
(D) 125 m?
@m Gscueus aigai cuweller gm Qéa;ﬂ: 15 8 gysab, Sigan @@ apo@ell b 17 18 oysaubd
Qm&dng). 20GuUNg 2ibHE euwellen LiFlLeTey — & @@é;@ﬁ;.
(A) 135 82
(B) 115 5?
(C) 12082
(D) 12582
AJGST 42

Ll



131. The ratio between two numbers is 9:5 and their sum is 224. Find the numbers.

144 & 80

(B) 216&8
(C) 124 & 100

D) 112& 112

@ earsaflar elfgd 9:5 aaflld®, seupdlar el HQAgras 224 @15 @@Udern Sjeueli(h cranser

wmeney ?

(A) 144 womwo 80
(B) 216 whmd 8
(©) 124 womib 100

(D) 112 wpgd 112

132. If the ratio of two numbers is 3 : 4 and their H.C.F is 4 then their L.C.M is

@A) 12
(B) 16
© 24

vy 4

G resr(h) meﬁ&aﬂém@ﬂﬁg,tb 3 : 4 Omb Siemeusaflar B.Qum.ea. 4 arafler Sieneusafier 5.Gum.p.

@ 12
By 16
© 24
(D) 48
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133. Tind the C.I on ¥ 15,625 at 8% p.a. for 3 year compounded annually.

y( 4058

(B) 4048
(C) 4028
(D) 4018

¥ 15,6255 <pem(h eul_ly 8% aigd eraflled, 3 amDaEnsHE sl () aully STeRTS

(A) 4058
(B) 4048
(C) 4028
(D) 4018

134. The value of a machine depreciates by 5% each year. A man pays Rs. 30,000 for the machine.
Find its value after three years.

(A) Rs. 25,621
(B) Rs.26,521.55

(C) Rs.27,521.65

g{ Rs. 25,721.25

@O Quipdliddler iy eaGeurm amHn 5% Gondpg. @Mt Bms auThiGuUSHE . 30,000
QarSsi. epenm LTH&EHEG D@ Q&6 &L eremen?

(A)  em. 25,621
B) . 26,521.55
(&) . 27,521.65

D) e 25,721.25
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135.  The value of [1§ X 3l] - [43’- + 5-?:) s
4 7 8 5

32
A o
(_) 151
32
B —f
) 151
151
G =
© 32
151
32

(‘}) 13521
® -
© -=
(D) 1—521

45 : AJGST
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136. Complete the series : 225, 289, 7, 441.

361
375
383
386

auflengudier el HuLLeng Bllis : 225, 289, 7, 441.

(A)
(B)
(©)
D)

137.  The next term of % in the sequence

(4)

(B)

o

D)

bo |~
| =

A)

(B)

(©)

D)

AJGST
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361

A L

11 :
el 3 sem A8
2°6 12 20

%,... ereom @amfeuflenaulley, 2 mitiy %—3';@ 2(HSs 2 ML
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138.

Horticultural crops productivity achievements in India is referred as

(A)  Green Revolution

(B)  Ever Green Revolution

i vﬁ?f -Golden Green Revolution

139.

"

.(D)  Blue Revolution

@Qpdurede  ComLssmor  Ldisd e hLsHudd

<iessLGEDS

(A)  usesw Yyl &

(B)  erémmb uigemols Lyl
©) sus LiSeLL] L&

D) Heodiygld

GAOFEN-11 satellite programme is associated with
(A) India

(B) USA

&~ China

(D) France

UenL&&Lul L

g?lm@cr;’uu@crsh—ll QewnanssGarer S b @BBETL(HLer QgmL e wg

A @sdwumr
B) gsHu Qwlsst
(C) e

(D) Aygmens

47
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140. International conference on sustainable growth, 2018 was held in

\W/ New Delhi
|

(B) Lucknow N
(C) Budhgaya

(D) - Varanasi

Bewss uanisd Ghlss 2018-b g sieuGses WIETH B QUOD GLib

@A) ygflad -
B) &G

©)  upssw
D)  aunpamd

141. Satyanishtha is associated with

\A( Indian Railways

(B) Civil Aviatioln of India
©© Shipping Corporation of India

(D) Indian Coastguard

‘sHwailavLn erenLig) @se e AsTLiLemL gy
A) @pHu @ru9oGeu

B @phu angrif gen

©) @pdw sliup sisid

(D) @;ﬁﬁu_l sL_Geomy SreudLienL
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142. The World Teachers Day is observed on

(A) September 5

PP \JB‘)/October 5
(C) November 5

(D) December 5

2 o0& Y FMwrser Semdb esfasiiuBin prer
@A)  QsuLbuis
B) ECLTUrS

(©)  peubui5

(D) geouTS

143. ‘KUDIMARAMATH SCHEME'’ in Tamilnadu is Associated with the maintenance of

(A) Houses

(D) . Agriculture

SOPBT g6 ‘@Glgormng SL b’ @eumier uqnmrﬂﬁ@un@ QETLyenLwg)
A eipser

(B) asropeL

(C) Brbleneser

D) Ceuermattrenio

m
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144. ‘UDAN’ scheme. of the Central Government is associated with
(A) Roadways
(B) Railways

\M Airways
(D)

Waterways

wsHL sirdler UDAN' S b @sea_dn Osm_iymLwg)
() srael CuTsEIEs)

®) @rdé Curb@arss

€)  aurar@aual CuiEarss)

(D) Breuf CursEaTSS)

145. The number of schemes available under ‘Amma Master Health Check up’ based on the

amount charged is

o 3

®) 4
C &
® 6

Qeaveflagdlen <iguumLuied @wps ‘bdwr g oo  ufiGsrgamar  Himsafler

amaiéemaLnans)
A 3
® 4
) b5
® 6
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146. ‘Lakhwar’ project is associated with

\m/River valley

(B) Thermal energy
(C)  Over bridge

(D) A basic need programme

‘Caseum S Lb Qoaar QgrmyemLwg)
Q) DD LETETEHTEES

B) i W g6

(C) Guoibumetd

D) ¢ gliuaL Csame L 1b

147. The first biofuel powered flight of India was operated between the cities of
(A)  Kanpur and Jaipur
(B) Delhi and Lucknow

(C) Delhi and Gorakpur

\.(B')/DehraDun and Delhi

‘2 1M GI'IﬂIQI_IrT@G‘-IT’ eV @wds L @pg,é‘u @pdw eflwreard @eusllip parhsERssamLGu

QUsSILL LS

(A)  smeny,i wHmb GuiliT
- (B) Hodd wpmitb ew&Germ

(C) Haad bpmb Camyéy,T

(D) Qrenym @Gen HOmID Qe‘usﬁ]
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148. Name the device used to produce high output power
(A) Ruby laser
Semiconductor laser

(B)
,}8{ CO, laser

(D) Dye laser

2ifls sereflener sadaw o HuSH QFLIWSEFIGIL 2 LISTERTLD 6TE)?
A) w9 Caar

B) wrssLgd Casir

(C) CO,CGaai

(D) srw Ceosir

149. Einstein got the Nobel prize for
(A) radioactivity
(B) polarisation

(C) relativity

\M photo-electric effect

Gﬂjjﬁ. s (g (19 H @ gemevieer Gprue ufle Quppmi?
A) sfflussd

(B) serellenarey

(C) esrmQue

(D) el Wilem eflenarey
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150. Which of the following is not an insecticide?

151.

152.

m

(A) malathion

(B)  parathion

M isoprene

(D) diaginon

Spssaaupdled erg) UFS&QHTL) W HHSD?
(A) Lorr@Jrrgqurdﬂ

(B) ummgwmren

©C) CsmAfen

D)  rwrgenmer

Identify the diprotic acid from the following set of acids
(A) HNO, W87 H,S0,

(©) H,PO, () HCI

Spssan bflomsafe @@ yCrmlLrafs (oL yCrmyé) siflewsms sy
(A)  HNO,4 (B) H,SO,

(C) H,PO, (D) HCl

What is the valency of Nitrogen with atomic number 7 and mass number 14?

e 5 ®) 7

ey 9 ° - D) 14

<igm) arawr 71b Hlenm ereir 1410 Qanarr evpLrggen 2igmicllen @QlenarSmen eremen?
A 5 B) 7
© 9 ; ' (D) 14
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153. All of the following are bacteria except

w/ Bacteriophage

(B) E.Coli
(C) Lactobacillus subtilis

(D)  Corynebacterium diphtheria

Qeunmer gearenps s6llly HPma TOMTD LTsefumésar
(A) undie fwurGush

B) er.Carene |

(&) wné;é;n@ucr&mdu &lg.ellav

D)  smiafiunseub goSfur

154. Who constructed a model successfully for DNA first?
(A) Barbara Mcclintock 1965

Melvm and Calvin 1963

\K Watson and Crick 1953

(D) Hatch and Slack 1965

Qeuirsafler wri wpgerapgedier DNA &@ Qeundlsyons wrdfl eugeud AarHssriser?
(A)  urrumrgr Quadleflemrsd 1965

(B)  Qudeilen pmid sreveder 1963

(C) e san wpmb Héen 1953

(D) Gamé wpmb eveors 1965
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155.

156.

1

Ovulation generally occurs
(A)  Just before menstruation
(B) During menstruation

(C)  dJust after menstruation

V?B( Midway through menstrual cycle

wpLlaL Geuaflu@se erbs sragdld Hanl Glumbd
(A) wrsellmigE ey

B) sl stasHaCuIs

©)  wrgelmi srab Senanme

(D) wrgelLmi pL&EWL sresHer @ant G

Blood is formed in the human adult by the
(A) heart

(B) spleen

4T red bone marrow

(D)  yellow bone marrow

auenriFflwanL_bs wellgaflen Qrsssms o (HeursEGaug

@) Gswo
(B)  wewTeRTyL
(C) &sly ereubL] EHME

(D)  @pFeT eTeYDL WOEHEME

55
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157. Which river is known as ‘Sorrow of West .Bengal’?
(A) Kosi

(B) Chambal

J/ Damodar

(D) Ramganga

‘Con@ eumisTengdlen SuwirD’ ere _@m@m‘uu@m <M 6THI?
(A) QCasrd

B) sbue

©  sCGuongi

(D) gmbsRisT

158. In India which state ranks first in maize production?
(A) West Bengal

(B) Jharkand

\M Karnataka

(D) TamilNadu

@pgluneile erps wrflow wasrsGamand 2 HusHuier s QL b cudlsdng?
(A)  CuwpeE eurusmend

(B) grisremt

(©) asipr_sD

D)  sbpprH
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159.

160,

The religion founded by Guru Nanak

(A) Parsi religion

V'QB‘J/ Sikhism

(C) Jainism

(D) Buddhism

@& mBrens Hlmiediw sowib
(A)  uniél sowd
B) Asfuwd

) MHRATOSLD

D) upp LD

The body fhat elects the Indian President is
(A) Parliament

(B) - Judiciary

M Electoral College

(D) Legislative assembly

@QpHw merrudenws Gg,l’r@g@é;@_b DLy

(A)  unpmEBLETDLD

B bhssep
(C) Csieul G

D) & Lweand
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161. Which is the main period of the neolithic age in the Indian sub-continent?

(A) 2000-4000 B.C.

(B) 5000-3000 B.C.

Jc( 4000-1800 B.C.

(D)  2000-2400 B.C.

Brdw giememssear_gar LS sHsTOSS6 Hrelbd 6Tg)?
A)  &.qp. 2000-4000
(B)  &.ap. 5000-3000
(C)  &.qp. 4000-1800

D)  &.qp. 2000-2400

162. Albuquerque conquered Goa from
(A)  Adil Shah
(B) Ahak khan

(C) Khawa Khan

& Yusuf Adil Khan

DD ESHTE Cameurene Qmbg Qeupd) Gsmarm.
A) < agit ' :

B) ypsrEHTEn

(C) smeunsme

(D) WL <41q.6) Srem
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163. Which among the following is a keystone of Hindu cﬁlture?

164.

1o

MRespect to elders
(B) Temple Dharshana
(C)  Relationship protocol

(D)  Touching feet in respect

@ndw swrserrsHen eTrLML eNeThiGeug) 6TEI?
(A apsCanisamar ofise

(B) Gsmelley g,rﬂ&eﬁb

(©) 2nmeus Qerdel S@WEGLD GUPSSTY

(D)  smeller eSl(pihg euamThIGSED

Which country was the first explorer from Euroﬁe to India?
(A) Holland
(B) France

(C) England

M Portuguese

o HGITUGW BT QBSUTEHE WeHpsD S auflanws s&T6 g 55517
Q) anrapg

B) Ggrans

©) @udarpg

(D) . Curréssa
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165. Which revolutionist started ‘Bala Bharathi’ newspaper against British in TamilNadu?

(A) Vanchinathan

\yB{ V.V.S. Iyer

(C) Sathyamurthy

(D) Subramaniya Siva

apsl yrléflwmert sllpssdlu  padCawmes eadims ‘ureoumd  aam  usHismsmws
Qgm_rilermi?

(A) eumEgh& BT Ben
B) V.V.S. guwwr
© FHWePTEHE

D)  sOgwerilu Heur

166. In 1917, the South Indian Liberal Federation came to be known as

(A)  Dravida Kazhagam

(B) Women Improvement League

\,(E(‘ Justice party

(D) Minority United League

1917-b yer® QAgenafip ellHsamen gl LenoliL TR SADPSSLILILLF).
@A) Syl spasid

B) Querrser wenCeanpm FrisD

C) fHssLA

(D) Apunrereno pEHw FRISD
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167. Who was the leader of the Wahabi movement?

(A)  Abdullah

W& Syed Ahmad

(C) Nizam Muhammad

(D)  Ali Ismail

aunamY QusssHen Semeveuir wimi?
A)  @ugder

(B) eswg a0z

(C) fHlemb apsiog

D) =6 @avimulled

168. Who among the following have not held the office of the Vice-President of India?
(A) Mohammad Hidayatullah
" Fakrudhin Ali Ahmed
(C) V.V.Giri |

(D) Shankar Dayal Sharma

Spssa_aisafier @BHu genenr G Lras smeeaurns ugel eudldgeur wiri?
(A) (PEHWG QBHWLIGFIeT

B) usmben 26l @D

(©) V.V.af

D) swaTgwumer srom
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169. Which is wrong statement about “Rule of Law”?
(A)  All are equal before the law
(B)  Legal spirit

(C) Law is supremacy

\M Special status to officials

Sipsaar_eupmier sLL sl 2 1 LuHHlw SeunTer sabm e ?
A  slLgden (PETT DIEDETEU(THLD FLOLD

(B) sl ersd

(C) &l Guenenwwimeng

D)  ofsrilsenés Aoy s@é

170. Which one of the following feature is NOT in the Parliamentary system?
(A)  Majority Party rule
(B) Leadership of Prime Minister

Dissolution of Lower House

ﬁ/ Single executive

Sipssem_euhmET LTFr@EHean wpapuild Goarss eg?
(A) Gu@burearaw Aemarr s Suller = & |
B) YGgswiler samaew

©) Symamwu sm&EED AHETHD

D) aHen smemw
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171.

172.

i

Dr. P.V. Rajamannar Committee, was set up in 1969

MTO review the Centre — State relations
(B)  To study the Kashmir issue
(C) | To study the Indo-Srilankan issue

(D) To review defelnce Administration

1969-& Dr. P.V. grggwenentit @, grhuBSsLIULL g
(A)  wsHwu-wrle 2 pejsamer Y LMSHE

B)  sragli Grésmeaneanw Qsfbg Qsrareugnes P
&  GibiBobms ks B

D)  umgisTiy Hiurssams < IaISDE

Which one of the following functions is NOT performed by District Collector?
(A) Maintenance of Law and Order

(B) Collection of Land Revenue

MDiSpensation of Justice

(D) Social Welfare

Gemeumd Gewour@safia wreul L o Awigred QewuduBSsULTS Qerm
(A)  slLb wHmbd @uBIE I...IIiI'ITLDIﬂllII_Ig]

B) Hle eumeumi eugedliugled

(C) B8 eupruge

(D)  seps ped
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173.  Where is the Southern Regional Office of UGC located?
(A) New Delhi

(B) Mumbai

\LZ)’ Hyderabad

(D) West Bengal

Q@ e LLSMOSLS rafll G Senbgierer @L LD ¢Tg)?
A) yg QLead

B) @eu

(©C) apsyTuns

(D) Cupe eurismerd

174. In which state was certain parts not included in Census 2011?

(A) Jammu and Kashmir

(B) Assam
VCE‘J/ Manipur
(D) Kerala

s wrflagder e LGHser wasear AgTes sarsdld (2011)-6 @b Qumsﬁ]@mw?
@ QO - &;rra'q,LSfr'

B) sEmw

(©)  wenflly

(b) Garremm
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175. Expand NTC

1!‘

1

6.

(A)

(B)

National Transport Corporation

National Telephone Corporation

VLG‘)/ National Textile Corporation

(D) New Technology Corporation

efleurgsn Qauis NTC

(A Gsélw Cunsgeursg swpad (National Transport Corporation)

B) Cszélw QgreneGgrLiy spsbd (National Telephone Corporation)
(©) Csdlw mayefl swsd (National Textile Corporation)

D)  ydw Asmfeomu spsd (New Technology Corporation)

Which industrial policy paved the way for privatisation.
(A) 1948

& 1991

(©)

D)

1956

1977

ahg e Sidledlssliu’ L Qgrfibbsrarens, safluniowsdnE e Esss?

(A)
B)
©

D)

1948
1991
1956

1977

65 ; AJGST
[Turn over



177. A can do a piece of work in 10.days and B can do it in 15 days. How much each of them get if
they finish the work and earn Rs. 1,500?

(A)  A=600,B =900
(B) A=1700, B=800

(C) A=800,B="700

‘}5)/ A =900, B =600

A gm Gamamw 10 priseflan, B <ews 15 srigseaflgip Qeig apylur. @ @maumn Caibg,

<ieuGaimamws deig m. 1,500-mw e, sbsrasamu ereucurm 9Msgs Qamereur?
A A=600,B =900

_ (®) A=1700,B=800
(©) A=2800,B=1700

(D) A =900, B=600

178. For data analysis the types of collected data are
(A) Statistical data, numerical data
(B)  External data, internal data

(C)  Grouped data, ungrouped data

w( Primary data, secondary data

G (peuaairer 7 LGUMLEIDHaTer aﬁ]ém:;rfp WiTeneu?
(A)  yerefl efleurib, ereir efleurid
(B) Qeuefl efeurid, o e efleuyid
(C) &l eleunid, gafl eleurd

D)  @saflae eleurb, Qe Bama (GrearLmbd) efeurbd
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179.

180.

L}

If 18 men can do a work in 20 days then 24 men can do the same work in
(A) 20 days
(B) 22days
(C) 21 days

\)Bj/ 15 days

18 puiser g Caumaeanws 20 prisafld Qsiisme 24 puisea G5 Caumaea AFLG (PR&S G

&TeLD

(A) 20 priser
(B) 22 priger
(C) 21 prigar

(D) 15 priser

A capsule is in the form of a cylinder with hemispherical ends. The total height of the
capsule is 19 cm and the diameter of the cylinder is 7 cm. Find the volume of the capsule.

(A) 147 7 cm?
(B) 17547 = cm?®

(C) 175.70 z cm?

B 204.17 7 cm®

@m wrsHers GUAurarg 2 maaulear R@EUDAPL @Il LD J®wpsg GCuren G}Jl.q.a{j]é}.
2 drengy. Sigen Awrss 2w 19 Qs.8. 2 Bmerlen el b 7 Qg.8. wrgflarsguldien sarsieTe,
SRS,

(A) 147 r Qs.83
B) 17547 ~x Q&._L53
(C) 175.70 = Q&.15°

D) 204.17 7 Q&.5°
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sl If 60% of A =% of B, then A: B is

(A) 4:5
\yB)/ 5:4

(© 9:20

D) 20:9

A—én 60% = Ban g Lk erafler, A : B ereug)

(A) 4:5
B) 5:4
© 9:20
D) 20:9

182. A ribbon is cut into 3 pieces in the ratio 3:2:7. If the total length of the ribbon is 24 m, then
the length of each piece is '

&/61}1,4111, 14m’

B) 9m,8m,7Tm
(C) 6m,6m,12m

D) 6m,8m,10m

24 B8 Berperer g Mluen 3:2:7 ey elflgsfe epearny geamaans Qe L Uu@deanng.

geuQaeurendler Hard
(A) 615,48 1448
(B) 95885, 748
(C) 615,615 128

(D) 615, 815 108
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183.

184.

Tt

Find the G.C.D. of x* + 2xy + y*, (x+y)*, 25(x* —y?).

\,(Jr)/ X+y

B) x-y
Q@ ~z+y
D) -x-y

22 +2xy+y?, (x+y)°%, 25(x% - yg)—(@éﬂ 8.Quir.eu srewrs

A  x+y
B)  x-y
© -x+y
D) -x-y

G.C.D of 22y, 2%y, x%y%is
@A) x%y?
B)
©
BT 2Py
x’y, %y, x%y* eremuaneupidien 18.QuT.u. cTeTUS)
A) x%°
B x
©
D) %y
69
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185. Vinay borrowed Rs. 50,000 from a bank for a period of 2 years at the rate of 4% -per annum..

Find simple interest
(A) Rs. 1,000
(B) Rs. 3,000

Rs. 2,000

(®)
\;n)/ Rs. 4,000

cflemis ep(mp mrﬁ;ﬁuﬁl@-@, 50,000 am® eully 4% Qe @Grewr(h BaETHHERHGE sLairs QuDDTT

peafleu g samHEly
(A) . 1,000
B) em. 3,000
(© . 2,000

D) @ 4,000

186. If a=7,b=5, then the value of a® -b® +3a% is

A) 218
B) 307
) 1735

\,(B( 953

a=T wipmb b=5 aeald a® —b® +3a’b e v sTems

() 218
®) 307
(C) 1735 ;
D) 953
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187. Simplify : 3.5+ (7 of ) +.5x.3-.1=

107
140

109

BT

110
C Rt
9 137
106

T

&(H&@S: 3.5+ (7 of T)+.5x.3-.1=

" @ I
® 5%
© I
® Iz

188. The cube root of 0.027 is

0.3

(B) 0.03
(© 0.9
(D) 0.09
0.027 Qe semepad
@ 03
B) 0.03
| (€ 0.9
D) 0.09

1
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189.  280% of 3940 = ?
(A) 10132
\ﬂ?( 11032
(C) 11230

(D) 11320

3940 @& 280% = ?
(A) 10132
(B) 11032
(C) 11230

(D) 11320

190. In a class of 35 students, 7 students were absent on a particular day. What percentage of the

students were absent?

A)  10%
\uaa/ 20%
©) 30%
D)  40%

@0 GEHIUGCL prafld, 35 wrareuiser o drer ¢f au@GLile 7 wraraursear eumas sredaame erafld,

QU(HENG SIS Lomemreuiisailen ss6isdmes srans

A)  10%
B) 20%
© 30%
D) 40%
AJGST 72 =




191.  Which of the following is-the world’s most liveable city as announced in 2018?
(A) Melbourﬁe (Australia)
\;@/V ienna (Austria)
(C) Osaka (Japan)

(D)  Calgary (Canada)

2018—5&& e (h sidleflibler Ly e THBESTD UTPUSDGEHS 2 adler @g,eérrenm BSILOTS
<iMlellsaslul_(Hearerg)? '

(A)  QueaCunen (enSCradlwm)
(B)  eflwenenm (pedlfluim)
(C) qevrsm (gmliuimen)

D) sraeCGsl (searm)

192. Which of the following is called as ‘Sky Hawks’?
(A) Lal Bahadur Shastri National Academy of Administration, Mussourie
\(B?/ Paratroopers Training School of Indian Airforce, Agra
(C)  Indian School of Mines

(D)  Ministry of Earth Sciences

SpeumeuemeunmieT ‘< smw @yremefl’ erer &m@éaﬂu@m@ e1g)?

A) @erousgt sravdil Cadlu Hifeurs 4 Hleneowid, pGgerf
B)  @pdw eunesuenL LTy eigraer uulpHLueTef — y&gm

©) @ndwu saflw Hlmeuend

D) yeil el emDFFSHD

L)
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193. India’s first pollution forecasting system is set up at

\/ New Delhi

®)
©

(D)

Mumbai

Kolkatta

Chennai

@pdwneilen g wra aperenialiiy ey HmeutiuHerer L ib

4)
(B)
(©)

D)

ugdlad
(peu
Qardsssm

Qeamenen

194. The person who received 24t Rajiv Gandhi National Sadbhavana award is

(A)
(B)
(©)

Sunil Chhetri

Major Kumar

Sep Virahma Pal Singh

‘M Gopalakrishna Gandhi

24 gyeug @rgieu srpd Cadlw ssueuarn efl(meng QupmeurT

(A)
B)
©

D)

AJGST

gafle) Gogifl
Gug @u:m‘r
Q&) eflymom Lime

Carured\(meyeanr &b
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195. The ‘Indra Dhanush Mission’ of Tamilnadu aims at

(A)  Creation of hospitals

\,GB‘)/ Vaccination

(C)  Creation of hygienic environment

(D)  Providing Ambulance facilities

ST QBT s@idy’ S sSdr Gosswrang
A)  wmsguLmaEET FDU(HSSISD

(B) ammm(ggg]g@

©C) sw SEHNFEGPOD 2_(HEUTEHGHSD

D)  sieusy Hdsens carird) eusdeni THLDSHISED

196. . The district where the Police Public School of Tamilnadu was opened in 2018 is

(A) Salem

Kancheepuram

(© Chennai

(D) Tiruchirapalli

2018—eir Ig,u‘:}]gpaa siyélen ‘sreuer Qurgiliuerafl’ Hpssliu(Herer wmeul L b
A) Gesab

B) .asn@é]qmb

(C) Qseenen

D) SHmaflgriveref

L
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197. ‘Khadi' is the thought of

\M Gandhiji

(B) Jawaharlal Nehru
(C) BalaGangadar Tilak

(D)  Netaji Subash Chandra Bose '

‘sgnggienfl erenug @euflen Slbseamen
&) srpde

(B) geuanrerd Cum

(C) unesustsT Hos

(D) Cpared suney sbdly Cumen

198. The ‘Bondi’ bond introduced by the world bank in Augusf 2018 is named after a popular
beach in -

(D) Canada

gaevl 2018-6 2 s cumdlwned iflepsiu@ssuul L ‘Bondi' eraruu@b s usSTb erHBHTL g6

Grdsd Quop sLpaeyuienmed Quulul Herers?
A) <=0uwuiss gsdw prEH

B) < HCrelwmr

(©) QCrée

(D) sem
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199.

200,

The fourth two days summit of ‘BIMSTEC’ was held in

(A) India
(B)  Bhutan
(C)  Srilanka

‘ﬂ/ Nepal

pransreug @ram® prar BIMSTEC 2 68 wrpr® peoQupm G ib

A @pdwur

(B) Ly L renT
© Qonms
D) Cpumemnd

The highest level of coastal erosion is found in the state of

(A) Gujarat

\ﬂr West Bengal

(C) Kerala
(D) Orissa

21$& setey sLpHaamy My ghulBerer wrBlow
@) ey

(B) Cune euhsd

(C) Gayerr

D) eflevent
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